Fluorene
Response Ratio

Amount Ratio

R = -3.48e-001 A*A + 2.21e+000 A - 1.72e-002
Coef of Det (r"2) = 0.997 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_E\METHODS\SIMPAH-BE020515.M
Calibration Table Last Updated: Fri Feb 06 03:15:23 2015




Anthracene
Response Ratio

Amount Ratio

R = -2.53e-001 A*A + 1.68e+000 A - 2.01e-002
Coef of Det (r"2) = 0.998 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_E\METHODS\SIMPAH-BE020515.M
Calibration Table Last Updated: Fri Feb 06 03:17:07 2015




Fluoranthene
Response Ratio

Amount Ratio

R = -3.08e-001 A*A + 1.81e+000 A - 2.13e-002
Coef of Det (r"2) = 0.998 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_E\METHODS\SIMPAH-BE020515.M
Calibration Table Last Updated: Fri Feb 06 03:18:21 2015




Response Ratio

Benzo(a)anthracene

Amount Ratio

R = -9.95e-001 A*A + 6.48e+000 A - 4.54e-002

Coef of Det (r"2) = 0.997

Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_E\METHODS\SIMPAH-BE020515.M
Calibration Table Last Updated: Fri Feb 06 03:18:41 2015




Chrysene
Response Ratio

O

Amount Ratio

R = -9.74e-001 A*A + 6.38e+000 A - 1.51e-002
Coef of Det (r"2) = 0.997 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_E\METHODS\SIMPAH-BE020515.M
Calibration Table Last Updated: Fri Feb 06 03:19:03 2015




Response Ratio
10

Indeno(1,2,3-cd)pyrene

Amount Ratio

R = -1.45e+000 A*A + 7.76e+000 A - 1.03e-001

Coef of Det (r"2) = 0.997

Curve Fit: Quadratic

Method Name:

Z:\HPCHEM1\BNA_E\METHODS\SIMPAH-BE020515 .M
Calibration Table Last Updated: Fri Feb 06 03:19:26 2015




Benzo(b)fluoranthene
Response Ratio

2.2

2—

1.8~

1.6-

g

Amount Ratio

R = -2.53e-001 A*A + 1.60e+000 A - 3.48e-002
Coef of Det (r"2) = 0.997 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_E\METHODS\SIMPAH-BE020515.M
Calibration Table Last Updated: Fri Feb 06 03:19:44 2015




Response Ratio

1.8+

1.6+

Benzo(a)pyrene

Amount Ratio

R = -2.19e-001 A*A + 1.56e+000 A - 3.14e-002

Coef of Det (r"2) = 0.998

Curve Fit: Quadratic

Method Name:

Z:\HPCHEM1I\BNA_E\METHODS\SIMPAH-BE020515.M

Calibration Table Last Updated: Fri Feb 06 03:20:09 2015




Dibenzo(a,h)anthracene
Response Ratio

Amount Ratio

R = -2.45e-001 A*A + 1.63e+000 A - 2.22e-002
Coef of Det (r"2) = 0.997 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_E\METHODS\SIMPAH-BE020515.M
Calibration Table Last Updated: Fri Feb 06 03:20:29 2015




Benzo(g,h,1)perylene
Response Ratio

[onm

Amount Ratio

R = -9.05e-001 A*A + 6.16e+000 A - 4.38e-002
Coef of Det (r"2) = 0.997 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_E\METHODS\SIMPAH-BE020515.M
Calibration Table Last Updated: Fri Feb 06 03:20:50 2015
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